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PAGE CORRECTION

145 The correct answer to question 9. in chapter 7, Exercise: METAR (p. 125)

9. 280950Z 02005KT 5000 DZ SCT007 BKN018 02/01 Q1028 BECMG FZDZ=
Date and time of issue: 28th at 09:50 UTC
Wind: 20°, 5 knots
Visibility: 5 000 m
Weather: Drizzle
Clouds: One layer of scattered clouds (3-4 oktas) with a cloud base height of 700 feet, and one layer with 
a Broken cloud cover (5-7 oktas) with a cloud cover height of 1 800 feet.
Temperature: 2°C
Dew Point: 1°C
Air pressure at sea level (QNH): 1028 hPa.

Additions

Trend: BECMG FZDZ = Sometime during the next two hours the drizzle is expected to become freezing.

146 The correct answer to question 5. in chapter 7, Exercise: TAF (p. 128)

5. AMD 161735Z 1618/1718 05004KT 9999 OVC003 PROB40 1618/1718 BKN015 PROB40 1618/1709 2000 
BR=
Date and time of issue: 16th at 17:35 UTC
Validity period: From the 16th at 18:00 UTC to the 17th at 18:00 UTC


